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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the role and organization of ‗Finance 

Functions‘ in a business concern. 

,d O;kolkf;d laLFkku esa ^foŸk dk;ks±* dh Hkwfedk rFkk 

laxBu dh O;k[;k dhft,A 

2. Explain briefly some of the techniques of inventory 

control used in manufacturing organizations. 

la{ksi esa fofuekZ.k laxBuksa esa mi;ksx dh tkus okyh LdU/k 

fu;U=.k dh dqN rduhdksa dh O;k[;k dhft,A 

3. From the following information, calculate the net 

present value, payback period, and profitability index 

of the two projects and on the basis of overall analysis 

suggest which of the two projects should be accepted 

assuming a discount rate of 8% ? 

The profits before depreciation and after taxes (cash 

flows) are as follows : 

Years 
Project X 

(`) 

Project Y 

(`) 

Present value of 

` 1 at the discount 

rate of 8% 

1 

2 

3 

4 

5 

1,15,000 

20,000 

80,000 

1,50,000 

80,000 

30,000 

1,05,000 

25,000 

90,000 

1,40,000 

.926 

.857 

.794 

.735 

.681 
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fuEufyf[kr lwpukvksa ds vk/kkj ij nks ifj;kstukvksa ds ‘kq) 

orZeku ewY;ksa] iquHkqZxrku vof/k rFkk ykHkiznrk lwpdkad dh 

x.kuk dhft, rFkk lexz fo’ys”k.k ds vk/kkj ij 8 izfr’kr 

miys[ku nj ekurs gq, lq>ko nhft, fd bu nks 

ifj;kstukvksa esa ls dkSu&lh Lohd`r gksuh pkfg, \ 

vftZr ykHk kl ls igys rFkk dj ?kVkus ¼jksdM+ varokZg½ ds 

i’pkr~ fuEufyf[kr gS % 

o”kZ 

ifj;kstuk 

X 

(`) 

ifj;kstuk 

Y 

(`) 

8% miys[ku nj 

` 1 dk orZeku ewY; 

1 

2 

3 

4 

5 

1,15,000 

20,000 

80,000 

1,50,000 

80,000 

30,000 

1,05,000 

25,000 

90,000 

1,40,000 

.926 

.857 

.794 

.735 

.681 

4. Discuss the various new money and capital market 

instruments and its influence on corporate financing. 

fofHkUu u, eqnzk rFkk iw¡th cktkj ds midj.kksa dh ppkZ 

dhft, rFkk fuxeh; foŸk iks”k.k ij buds izHkko dh O;k[;k 

Hkh dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss any four (04) of the following : 

fuEufyf[kr esa ls fdUgha pkj ¼04½ ij la{ksi esa ppkZ dhft, % 

1. Cost of Retained Earning. 

izfr/kkfjr vk; dh ykxrA 

2. ‗Operating cycle‘ concept of working capital. 

dk;Z’khy iw¡th dh ^ifjpkyu&pØ* vo/kkj.kkA 

3. Major trends that have prevailed in International 

Business. 

vUrjkZ”Vªh; O;kikj esa izpfyr izeq[k #>kuA 

4. Venture capital financing. 

m|e iw¡th dk foŸkh;uA 

5. Financial planning in the public sector. 

lkoZtfud {ks= esa foŸkh; fu;kstuA 

6. Trading on Equity. 

lerk ij O;kikjA 
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7. A Purchase Manager places order, each time for a lot 

of 500 numbers of a particular item. From the available 

data, the following results are obtained : 

Inventory Carrying Cost 40% 

Ordering cost per order ` 600 

Cost per unit ` 50 

Annual demand 1000 units 

Find out the loss of the organization due to his ordering 

policy. 

,d Ø; izcU/kd izR;sd ckj ,d fo’ks”k oLrq dh 500 la[;k 

ds fy, vkWMZj nsrk gSA miyC/k vk¡dM+ksa ls] fuEufyf[kr 

ifj.kke izkIr fd, tkrs gSa % 

LdU/k ogu ykxr 40% 

vkns’k ykxr izfr vkns’k vuqlkj ` 600 

izfr bdkbZ ykxr ` 50 

okf”kZd ek¡x 1000 bdkb;k¡ 

Ø; izcU/kd dh vkns’k uhfr ds dkj.k laxBu ds uqdlku 

dks Kkr dhft,A 

8. Calculate the market price of a share of Sohan Ltd. 

under Dividend Growth Model from the following 

details : 

Earnings per share ` 5 

Dividend per share ` 3 

Cost of capital 16% 

Internal rate of return on investment 20% 

Retention ratio 50% 
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fuEufyf[kr fooj.kksa ls ykHkka’k fodkl ekWMy ds vUrxZr 

lksgu fyfeVsM ds va’kksa ds cktkj ewY; dh x.kuk dhft, % 

izfr va’k vk; ` 5 

izfr va’k ykHkka’k ` 3 

iw¡th dh ykxr 16% 

fuos’k ij okilh dh vkarfjd nj 20% 

izfr/kkj.k vuqikr 50% 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. The goal of the firm should be to maximize earnings 

per share. 

QeZ dk y{; izfr va’k vk; dks vf/kdre djus dk gksuk 

pkfg,A 
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2. In general, long-term debt costs less than short-term 

debt. 

vkerkSj ij] nh?kZdkfyd _.k dh ykxr vYidkfyd _.k 

ls de gksrh gSA 

3. MM Model considers dividend as irrelevant for the 

value of the firm. 

,e- ,e- ekWMy ykHkka’k dks QeZ ds ewY; ds fy, vizklafxd 

ekurk gSA 

4. There is always a chance for estimation errors in 

capital budgeting decision process. 

iw¡th ctVu fu.kZ; izfØ;k esa vkdyu =qfV;ksa ds fy, ges’kk 

ekSdk gksrk gSA 

5. Taxation effects of a project will have impact on 

project profits and losses. 

fdlh ifj;kstuk dk djk/kku izHkko ifj;kstuk ykHk vkSj 

gkfu;ksa ij vlj Mkyrk gSA 

6. Dividend payout indicates the extent of the net profits 

distributed to the shareholders as dividend. 

ykHkka’k Hkqxrku va’k/kkjdksa dks ykHkka’k ds :i esa forfjr ‘kq) 

ykHk dh lhek dks bafxr djrk gSA 

7. Working capital for a project includes investment in 

fixed assets. 

,d ifj;kstuk ds fy, dk;Z’khy iw¡th esa fuf’pr lEifŸk;ksa 

esa fuos’k lfEefyr gSA 
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8. Financial management is concerned with the 

maintenance and creation of wealth. 

foŸkh; izcU/ku /ku ds j[kj[kko vkSj fuekZ.k ls lEcfU/kr gSA 

9. Profit rate influences the dividend retention policy. 

ykHk nj ykHkka’k izfr/kkj.k uhfr dks izHkkfor djrh gSA 

10. The asset management decision involves determining 

the optimal firm size and the assets that should be 

acquired or eliminated. 

ifjlEifŸk izcU/ku fu.kZ; esa b”Vre QeZ vkdkj vkSj 

lEifŸk;ksa dks fu/kkZfjr djuk lfEefyr gS ftUgsa vf/kxzfgr ;k 

lekIr fd;k tkuk pkfg,A 
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